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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Q=T 3397 :
i) @ IeT I |
(i) I GEI1-5 7% Td% Uk HF & & | 57 Jo1 & I/ II9% 20 931 &

314% T & eT |

(iii) 397 &I 6 - 10 TF 9% qI 3% & & | 57 I94 & I JoI% 40 Y5l &
3fe 781 &4 TeY |

(iv) 397 &7 11 - 16 7% J4% &R 37H] & 8 | 37 Jo41 & I/ Ie9% 100 V5] G
314% T &1 MY |

(v) ¥ H&IT 17 - 21 TF J9% qier HHl & & | 57 991 & IH I9% 150 Jsg]
& 37fe 787 817 @y |

(vi) 97 G&IT 21 FEE | STENRGT F97 & | 393 IR 3794 FR-GIeaar 7
ferf&T |

(vii) I97 &I 22 - 27 T 9% D: hl & & | 57 1 & I/ 9% 150 Jeq] &
3% T &7 T |

General Instructions :
(i) All questions are compulsory.

(it)  Questions number 1-5 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

(iti)) Questions number 6— 10 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 11- 16 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 17 -21 are of 5 marks each. The answers to these
questions should not exceed 150 words each.

(vi)  Question number 21 is a map-based question. Write its answers in your
answer-book.

(vii) Questions number 22 - 27 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

1.  GIH UsF SHIERT 4 9/11  gHAT 1 waTel ohdl T ? 1
How did the U.S. respond to the 9/11 attacks ?

2. Hifowd eueeen qun dSiamdl siefeawe % = fhl T THE R
ISR HIT | 1

Highlight any one major distinction between the Soviet economy and the
Capitalist economy.
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3. 379 hal do% HEHd @ foh STUTdeRId <kl TWUM 3 WA H ARl o HHTcHe
forawor =t ASIR foham 2 2 1

How far do you agree that the proclamation of emergency weakened the
federal distribution of power in India ?

4.  “YAIIC TIYCTHdl % THH atTs T&l 8 |7 =t 38Us | 1
Justify that “Regionalism is not as dangerous as Communalism”.

5. 5O I UHT RN AiEd § b 9’1 370 I UG L AT AR 2 1
Why do some people feel that Article 370 should be revoked ?

6. vt o fohgl qf T T Iech@ HIMT | 2x1=2

Mention any two benefits of globalisation.

7.  UIfhEdE ¥ T8 TERY S o T Sig g U™ gEmsy | Ix1=2

Suggest any two measures to have good relations with Pakistan.

8. Y & forg fafsmear 3 YR & Tdd1 TelaH & e, 38 Uk fo=iicHs
TS ST ? 2

Which characteristics made the Congress an ideological coalition during
the freedom movement of India ?

9. T 9e o H98 UgEqUl 9N i 9ge i | 2
Identify the most important outcome of the Rio Summit.
10. Hifodd 99 o foreed @ 9y TsA THIH HEl TATHT=Id 3Tl ? 2

How was the U.S. benefited by the Soviet disintegration ?

11. 1980 % Uv=Tq YR fopam Jfaem gra <t € foredl = wim o1 auia Hifve |
4x1=4
Describe any four demands made by the Bharatiya Kisan Union after
1980.

12. 99 T=EEE AT 3R fodi daedfa IieHT o i i @ s falgu | 2x2=4

State any two differences between the First Five Year Plan and the
Second Five Year Plan.

13. Tasafoat =1 =7 oied & o foaw @ ach gttt it =men Hifv |
frsarelt IROTITRRIT <Rt TEEAT T W WRA 1 HRT IR HIMT | 2+2=4

Explain the circumstances that forced the Tibetans to leave China.
Highlight India’s role in helping the Tibetan refugees.
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14, IREIREh G 6l AT Td TRl R H 3= Tase i | 2+2=4
Distinguish between the internal and external notion of traditional
security.

15. TSHYT TR Ueh-Geild ThRI hl Jorl | fohd TR Afeeh dArshaiteh fag i
g°? 4
In what way do the coalition governments prove to be more democratic
than the one-party governments ?

16. “Teha—= cfequr i@ o & bl Yl 9E S9dT ST @1 & | 39 hd
rfad 38sy | 4

“Democracy is becoming the first choice of the people of South Asia.”
Justify the statement.

17. = fou Tu Steamor w1 eyHqds stewE s ot ffaRad sl % 3w
SIS
ey €1 91d 98 7 fh WINER TSl o GHieq § fafvmar < frgra & w&iisfd
fueft | 99 &7 w8d 8 fo5 WA I Sehds RN B, 1 SHeRT HUT-1 qdas SadT
W TE B fF IRa § Aedite SRYW W ST 81 § S1¢al YRd § g
AT ST & | HRA o Alhdih 8- I Th Jaa A 7 | Tlhad i I
1 o7 fafrarett 1 ugemA 3R 3% TR ST | A1 &, I8 HHH Il
fop faerrarati o ol oy off 81 Hehd & | GEX WG1 H g Al WRA H Alehad
1 gron fommi iR Sfaq-ugfadt sl sgarar & Jei 53 off |
1) TS TS | R AN 7 ?
(i) 9Rd § YTYER TS 1 SHIT 7T 2 13 g1 hROT TS T |
(i) WRA H A i fohg TR fo=ml 31 SleH-agfcdl 1 sgaa & e

T g ? 1+42+2=5

Read the given passage carefully and answer the following questions :

Above all, the linguistic states underlined the acceptance of the principle

of diversity. When we say that India adopted democracy, it does not

simply mean that India embraced a democratic constitution, nor does it

merely mean that India adopted the format of elections. The choice was

larger than that. It was a choice in favour of recognising and accepting

the existence of differences which could at times be oppositional.

Democracy, in other words, was associated with plurality of ideas and

ways of life.

1) What is meant by ‘linguistic states’ ?

(i1)) Why were linguistic states formed in India ? Explain any two
reasons.

(i1i)) How is democracy in India associated with plurality of ideas and
ways of life ?
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18. = U U STa@U T SAHYdsh LI hive AR FHfAfed T 6 IW
AN
THIAATE AR A gl iR @ goqde FHA S e st g
A & | 39 TG o gAY 3TYY TSI A&d] i gud i o oy
T&as ATl & SEAHTA o 9T H eofldd od o | 39 J9d ... GEH ST W |
g ToRE< GHd s he heH 33N, Afehd AFEEE] Acidd b |
HehT | 91 o Tl § I8 < o s 37T W H el T |
()  Togedredt 4 fEEr o SISl SrtHeRdr w4t 4 ?
(i) TEd1 o U & STES[E, TFIAATE TG hl ThNIcHS fHehT H1

ATeheld hifoTT |

(iii) 39 3T i U & g &l U FITRN | 142+2=5

Read the given passage carefully and answer the following questions :

The Naxalite Movement has used force to snatch land from the rich
landowners and give it to the poor and the landless. Its supporters
advocated the use of violent means to achieve their political goals. In
spite of the use of preventive detention and other strong measures
adopted by the West Bengal government ...., the Naxalite Movement did
not come to an end. In later years, it spread to many other parts of the
country.

(1) Why did the Naxalites prefer to use violence ?

(i1)  Assess the positive role of the Naxalite Movement in spite of using
violence.

(iii)  Suggest any two measures to contain this movement.

19. = U T STE@u w1 eaHYds e i R e T 6 IW

A
Tefaaeran it Aifa sfa Ig & deot § gt oft | ... wiferra ww % fames

3R 1991 # Sftq g hi THId o &Y &, Teh AU MGl IR 9Hd hi
fagw fifa <1 g We % ¥4 W [elusar 6 IERehaT auT TNTEshiar §
et Y IR |
(i)  9RA A TEHTYeTar st fifd ! 1 TR ?
(i)  TefRue IAigre St ekt § HHt T % fhedl g HRUN hl T

T |
(iii) 9 HFl T A & foh [FRUL ATGIeH, Teh FASI ATGIeH & T
27 1+2+2=5
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Read the given passage carefully and answer the following questions :

Non-alignment as a strategy evolved in the Cold War context.

.. with the disintegration of USSR and the end of Cold War in 1991,

non-alignment, both, as an international movement and as the core of

India’s foreign policy, lost some of its earlier relevance and effectiveness.

(1)
(i1)

(iii)

Why did India adopt non-alignment ?

Explain any two reasons for the loss of its relevance by the
Non-Aligned Movement.

How far do you agree that the Non-Aligned Movement has become
an international movement ?

20. = fou U HEA w1 emyEs stemeH #ifvw qur Fefafed s % 3w
IS

(1)
(ii)

(iii)

59/1

Ig H1eA fohe <1 @ Hafed 8 2

3 @A # feu MU foR @ wefleRl 9 wefud g@ ol ugeEe # TRl
HET i 8 ?

I hled HATIA < I, SRS Tl hl ToHTd § FopE &M W @l

7 1+2+2=5
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Study the cartoon given below carefully and answer the following questions :
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1) Which country does the given cartoon refer to ?

(ii)  Identify the two symbols in this cartoon which have given you the
clue about the related country.

(iii) Where does the cartoon place the related country in the
international power politics ?

Fig:  HEICTRIT J9 e gIRETAT GOl & o7g, 397 G637 20 & € WE |

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.

(20.1) ETETE G gRT IMTed TREN & fpelt T <1 o1 W foafen |

(20.2) @ W@ TR o % am fafew, S w fae Ao swd 5 ufwat
U € |

(20.3) HH TWHR g AU feTaeen H dfvass TR W G aF & faw
33T T foheal G haHI ol HedATh i | 1+2+2=5

(20.1) Name any one country of Asia ruled by the Communist Party.

(20.2) Which two Asian countries consider themselves as the emerging
global powers ?

(20.3) Evaluate any two steps taken by the Chinese government to open
its economy to the world.
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21. feu MU wRA & TsHifaew WEaEtE |, 9w s W @), @), ©), ©
® g fafea foram mn 2 | 9 & € TR W SMUR W Sh wgEE Hif

3N ITRYFERT H Ik el 19, ITh! A TN qAT Traf-od MeR dfed

fafae

5x1=5
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() 98 TST 59 9 yewr # 9@ e R S9™ T B

(i) 98 TS - Taaeal o q9aTd WA H I+ foere o1 foig fomam o |
(iii) EFAd ARG H IS GEhR gRT IMYd 98a U9 |
(iv) 1971 8 Y& TR €T & HeT §311 T |

(v) BN shif=d % RV HY o &F H TG I el TF |

59/1

8
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

59/1

In the given political outline map of India, five States are marked as
@), ®, ©, O and ®. Identify them on the basis of the information
given below and write their correct names in your answer-book with their
respective serial numbers and the alphabets concerned :

68° 72° 76° 80° 84° 88° 92° 96° 100°
1 T T 1 T T 1 1 1

16°F

28°

24°

20°

27N J6°

N
“’\) Sy

32°

28°

24°

20°

16°

80

km100 0 100 300 500km

1 1 1
72° 76° 80° 84° 88° 92° 96°

1)
(ii)
(iii)
(iv)
v)

The State which was carved out of Madhya Pradesh.

The State which opposed its merger with India after independence.
The first State of free India having a Communist government.

The State adjoining Pakistan territory up to 1971.

The State which became agriculturally prosperous due to Green

Revolution.
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e :

el 397 &aet giEaniaa ghemaal & o, Jv7 J&qr 21 & €& |
&/

Note: The following questions are for the Visually Impaired Candidates

22,

59/1

only, in lieu of Question No. 21.

(21.1) TEaar | qd Tg-asg 1 fagra’ fohd Torifae g o feam ot ?
(21.2) W =R Wagl % AW fiflgy {98 Taasrdr & qearq. aRdE g9 |

o =1 feriy feparm o 2
(21.3) I Y AR IS ¥ HE K 99N JH Iid Th-Uh T hl W
fetfiae | 1+242=5

(21.1) Which political party advanced the ‘“Two Nation Theory’ before

independence ?

(21.2) Name four Princely States which resisted their merger with the

Indian Union.

(21.3) Name one State each which was carved out of Uttar Pradesh and

Punjab.

AT TTHR g AR o (=Rt sl Uehd o foTw 33T U fomegl ofi9 shemi
T U HifT | 3x2=6

rerat
forelt =1 h1 %Rl TR AT o B ATt foheal fiF THTET ST 90 hHINT | 3x2=6

Describe any three steps taken by the Indian Government to check the
environmental degradation.

OR

Describe any three effects of globalisation on the culture of a country.

10
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23. ofiudi 9 & AfH g H IR ToHIfd § - fF @ geATd o 2 9uH

HIfT | 6
AT

ARG <hl Tl & o, fbfeRA & aRa H faoi@ de i el 1 Fieed auH

T | 6

Which three major developments took place in Indian politics during the
last decade of the 20" century ? Describe.

OR

Briefly describe the story of Sikkim from the time of India’s independence
to its merger with India.

24, 1969 H HIH Ul & fawrsH & fRegl T SHROT 1 Tawe HIT | 3x2=6
arera
1980 o TEATA(Y THATE! o foiu IRl ufifedfast i s men Shifvw | 6

Explain any three causes of the split in the Congress Party in 1969.
OR

Explain the circumstances that led to the mid-term elections in 1980.

25. UM Wlifve f6 fid 3g 78 g, @ vt feufa 8 vyra f fagw ifa w s

U9TE 9T ? 6
FYaT

afe difeera g &1 foaaes 98 grar ok fava fg-gefia s war, o vt feafa o

Tova goHifa W = g v 2 6

Suppose there had been no Cold War, how would that situation have
affected India’s foreign policy ?

OR

If the Soviet Union had not disintegrated and the world had remained
bipolar, how would that situation have affected the world politics ?
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26. TIH UY FET UG H YRA 6l TARN TEIa1 & 9§ H Hig 9 ITYH b

AN | 3x2=6
AAAT

de g o @nT % wEE o Aol @ fRE TRR TEel gl § @ ard

AT o WUl 9 AT 3 ? 3794 I o 97 § IeELr SIfu | 6

Give any three suitable arguements to support India’s candidature for
the permanent membership of the U.N. Security Council.

OR

How are the threats faced by the people in the Third World different from
those faced by the people living in the First World ? Support your answer
with examples.

27. UYH TS TR & goed & fova W UeHifaes qurat i favemo i | 6
ST
I T o ATT 9T ST e a4 o T ITReRRt fhedl o hienl
1 Ty i | 3x2=6

Analyse the political impact of hegemony of the U.S. on the world.
OR

Analyse any three factors responsible for the European Union to be a
highly influential regional organisation.
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